DWARSPROFIEL 1

(schaal 1: 200, maten in meters)

20
AN © <
Zy
- AN
29
Bz, 2%
= N v
N s S
2 o Up? Q
o A
0207 2 PRSS
@fpw 0 Q QO
QA 570 - ¥ 2,
2 SN
N
@”DDD “ 2 2N “
o 25
PN B 25T 4
DQD 43&?@%0 S
Q ap 5 T -
9 Lo 2 fﬁmo“zmgmm >
R a}%m Py D
2y Q' Py ) Qe PPN
S5 = 2%
252 Ao g 2, 20
Qo@ %D%%Q a 2, 2
B AN Cegea Oy S SN
3 20 %5

(NN SN REN NN

1,80

2V
Q S =
. A
»
ez ha2
2y o0 2 0
EERIEN PN
% 09? Q
o5 « A
027 2 NN
U @fﬁ‘” ) Q
(SN s 0 - V2,
=3
@”DDD . 2 2N =
s 5
o B 25T 4
DQD 43%%0 S
@Da@ Q2 Q
920000 2220 B e =
N N =
=, e ) 92 295
52° = 23
27 @}%"%Dg 2 20
Qo 9 S R=3 >, 2
qgf‘g‘émf’ RS ez S ;%Q,
£ &%—;KZ@%W@ [gj”@D SN
APS
2 O N e
v
ITERRERUNRLNNRERRRET]

5,60

3,90

1,60

12,90




